201 2FFFiRTRMET-AKRE —BEF UV ILAKREHE

1R QF SF F SF QF 1R
B AN ()
gl KW~ —— L . | B KE(Y)

_— PN 5 1 -l —
> H flz (7)—— o 8RET R BEF (F) I
AR B () . 6 ! . —— BH B (W)

A 5 __ 14 5 CIEY) [y -
BA EH () — TE ER ) S
A BB —i . s [— B AN (D
= 3 I\ 9(5) 2 —
T IO D (7)) —1 o g —— #HE X (N)
S5 W0 ER —fe 1 6 ‘ , —— KT #E - S
A EE (D) | 8 I PN —
201 2FEFIRTRMET-AKRE RTIUBFUUITIILAKRELER
1R SF F SF 1R
L N3 ; = i
To BR B — ok M (o) — i % (Y)
S EK Bl (OL)=— © 81 ° , S bye
FR BN R — 8 T o )3
=m = (oL)— ° 8 b—— xm =% L)
20125 FRMEMET=AAE V=7 BFIUT LAREHER
1R F 1R
EO EX (B)
roBk Rk () ——  ° | 2 i BH OL) 3
2 EO 8% (A) 8 ! BO IE— (3) 4




201 2FFRTRMETAKRE —REBFFTILAKEER

—
11X

(2)
(2)
(Z)
(7)
(*2)
(*2)
()
(1)

ES
=&
£H
AKX B
ﬁ*
_=|sJ_
INEF
10
Lk UE
BES BE—

e
Mz

5> E')H\ by
)‘%\gmhﬁﬂﬂfﬁg

1R 2R SF F SF 2R

=ik )]

BE I )]
4 8 A EX (B)
8 3 L Eaii']. (/)
5 8 =8 & (¥2)
8 4 8 BE i (¥2)
0 8 3 FE X (N)
6 KAFE IEE  (N)
. 8 | INFR FIEE (T)
8 Xx&Ea 2 M

0

2012FFTRTTRMET_RAKRE RTIVEFFTILAKREHER

1R 2R SF F SF 2R

#H 857 —f%

R E= —f8
K#* & (B , 3] 8 a5H ®#= (JL)
FE —— (@) 9 0 T BH— (JL)

bye 7 8 | #HB 57 —%

8 8 TR E= —f8
fFIER &5 (I3) oa7) 2 £F &/ Q)
X8 EE —H 1 A oZE @
PE FEE (N , 8 | =248 £dH (D)
Eith 2= (%) 8 A RE (D)
AKH FHX (TL) 4
ZEXK & (IL)

2012FFFRTTRMET-AKRE PZT7BFFTILAKREHE

ik HBE
aH ¥

(F)
(F)

bye

F 1R
¥ E— (B)
B B (R)
3 8 FH E— (HB)
B BB (&)
bye

N|



201 2FFFiRRMET-AKRE —BEFIUTILAKREHE

FH #5641
HE L

TH FE

201 2FFFRTRMET-AKRE —BEFF T ILAREZEE

R 2FF
NHE BB
W AT
HE EF
IX RF
WHE =RF

1R

(F) ——

(7)) e

(%)

(%)
(%)

SF

1R

M2k BE ) mmrer
8 [—]
3 8

=)
— %
)
(*2)

MeR EF (YY)

[%2]

F

1R

TH EE 4)

wiE BF (3 Bk A% ()

8 95) 8 nEe s (9)
6 ik £EF (9)

8 4 ET REF

6 8 TH FEE ¥)

wE BRF (%)

5

5

201 2FFRTTRMEBTAKRE RTIULKFRATILAKREFER

ES
i
e

A+ £DF(TL)

=F —fi
BF (9)
EF¥ (B)

Il HF
YA FE
1 8
B 3
3 8

(30
(F)

1R

=hT:
/N
==B]1
2 H

Xz
:ES
HF

Pt ==
e

()
()
(3
(F)



201 2R RMETARE —MBBFUUTIVATERR

ER 7‘l:l\y’7| i 2 3 4 BB [IERL] B-% [B%E
oE KB |- _ § i i -
ohA BA RS 6 4 6 3 2 0 1
A |[Fmz [(3) _ _ _ _ _
g2 L 4-6 6-3 1-1 2
Bl &s (&) | . - - i} §
SULE, 91:;' 3-6 3-6 0-2 3

E2 7‘|:l\y’7| _ 1 2 3 4 B |IBG| B-% [B%=
[iif] X [(B) _ _ _ _ _
8~ 6-3 6-3 2-0 1
2@ |[B— (7)) _ _ _ _ _
7:51‘ FoAF 3-6 2-6 0-2 3
IMEEIE _ _ _ _ _
Y5 F ET+ 3-6 6-2 1-1 2

F3o0v i 2 3 4 BB [IERL] B-% [B%E
FAIR[IEEE [ (N) _ _ _ _ _
*4n75 |w¥s
£ 1) 1 wo 6-0 | 6-7(t) | 1-1 | 2 [ -
=1 SN [(D) _ _ _ _
AT W.0 0-6 1-6 0-2 3
BA D () | owo | 71)6 | 6-1 20 | 1 -
TJUER PVl

F4 él:l\y’Jl i 2 3 4 BB [IERL] B-% [B%E
B [E5 (5 3} : i - :
‘:'_"f|~'7 SFF 6 0 6 1 2 0 1
FiEk [—E [—# _ _ _ _ _
Abe HAY
e [EE [(B) _ _ _ _
B ER 0-6 W.0 0-6 0-2 3
UiE & [(72) 1-6 W.0 6-0 1-1 5 _
eH5 (=D )

E5 095 i 2 3 4 BB [IERL] B-% [B%E
BTHE [E# [(F) _ _ _ _ _
IF5 Y&
=258 |[# [(T)
=] E=1 — —_ — =
Shiar |y W.0 7(5)-6 1-6 1-1 2

(] 11

ME SFsh =8 | o | 6-75) 5-7 0-2 | 3 -
74 E)eER
#X X IN) | owo | 61 | 75 20 | 1| -
=43 "4




201 28R RMETARE —MBRBFIUUTIVATERR

F6 JOvY 1 2 3 4 | BB B
£t () 26 | 36 | 63 | 12 | 3
L (N 64 | 62 | 30 | f
M FE D 1 65 | 4 60 | 2-1 | 2
BHT EfT [() 1 36 | 26 | 0-6 0-3 | 4

VIZF 2Y1E

E7 Oyl 1 2 3 4 B-BX_[IEfL

i = [(J) W.0 6-2 | WO -0 | 1

YYOF oy

b |[EE [(T3)

FEAn [T

At |[EE & | , -
Fy T s 2-6 W.0 W.0 0-1 2

BERN|KX#E (T

RX¥IVF |FART

ZE3 vy 1 2 3 4 BR[| IBLL
=TI ES
g RS [(F) 3-6 W.0 W.0 0-1 2
YIth T

y EE )
A [EF |3 6-3 W.0 W.0 1-0 1

FLZ ao%

IhNE B2 |

FH0 VIR

&F |#sh (D)

AFHY Ahen

FI OOV 1 2 3 4 | BB [IEf
aE [EE (D) 06 | 06 | 36 | 03 | 4
=V <HER
10 [»n% () _ _ _ -

Zd B3 6-0 36 | 62 | 21 | 2
i K& () _ _ _ _

Bt A 60 | 6-3 75 | 30 | 1
s | E—BBGh) | g3 | 26 | 57 -2 | 3

i S P = L)

E10 D |:|‘y’|7 1 2 3 4 | BB B
AF |BH [ _ _ _ _
e 62 | 64 | 64 | 30 | 1
¥% Es (V) _ _ _ _

s SR 2-6 63 | 62 | 21 | 2
g |5t (D) _ _ _ _

vevE |4 4-6 3-6 3-6 0-3 4
i E— (7)) | 46 | 26 | 6-3 -2 | 3
N




201 28R RMEFETARE —MRBFIUUTIVATERR

F11 7‘|:|v/|7 i 2 3 4 BB [IERL] B-% [B%E
BN & —h% _ _ _ _ _
hESF M 4-6 6-3 1-6 1-2 3
I [(N) _ _ _ _ _
S 6-4 6-2 2-6 21 2
XA |E& [(D) _ : _ _ _
e 3-6 2-6 1-6 0-3 4
Gt @I | gy | 62 | 6 30 | 1| -
194 <3k
F12 7‘|:|v/|7 i 2 3 4 BB [IERL] B-% [B%E
&0 [BExX |—# _ _ _ _
=== W.0 4-6 6-2 1-1 1 | 10-8 | +2
BE [Eth (YY) _ _ _ _ _
FILYD Fakd
A KB 1T | o4 | wo 2-6 -1 | 3| 810 | -2
T LS wvenQ
By &) 2-6 W.0 6-2 1-1 2 | s-8 0
TH% YR
E13 JOvY 1 2 3 4 BB IER] B-% [B%=
ol 11
HEr [ |—f 36 | 06 | 57 | 03 | 4| -
ARa0 [ e =
2] TE
g2 E (D) 6-3 6-4 6-2 3-0 1 -
XI5 YR
iwil |BH (D) 6-0 4-6 6-1 21 9 -
SARN 3 an
EA (=KX () _ _ _ _ _
HA A 7-5 2-6 1-6 1-2 3




201 2R RMEFETARE RTIUBFIUTLATERER

#1099 1 2 3 4 BB [IEfL] 5% |[B%=
;ﬁ :% IE A | _ EQ 3_6 2_6 — 0_2 3 —_
FU S
L)) _ _ _ _ _
R 6-3 7(7)-6 2-0 | 1
i N i1 1(3) _ _ _ _ _
e 6-2 | 6-7(7) 1-1 2
F2 7‘l:l\y’7| 1 2 3 4 B-ER |IEhL] 5% [Bk=
ER ' — & _ _ _ _ _
1 4-6 6-2 5-7 -2 | 3
Ak [ [OL)| o, 6-0 | 6-74) | o2-1 ) _
VX TILA
K| B [(N) _ _ _ _ _
e 2-6 0-6 3-6 03 | 4
= pN %
58 F3 B | g5 | 146 | 6-3 30 | 1| -
)YV =%
E3 7D\y7| 1 2 3 4 BR[| IEhL] 5% [Bk=
L& (=8 [(&) i} i - i i
P P 4-6 2-6 6-0 -2 | 3
mA A (8% _ _ _ _ _
N Ean 6-4 716 | 6-0 3-0 | f
ol b L)) _ _ _ _ _
Lok 6-2 | 6-7(1) 7-5 2-1 2
,% H 'I‘Ef’; | — EQ 0-6 0-6 5-7 0-3 4 —
~JA P/E S sfen|
F4JOv) i 2 3 4 BB [IEfL] 5% |[B%=
X w- &) 26 | 06 | 26 | 03 | 4| -
AH |[F% |[OL)]| . _ _ _ _
e e 6-2 6-3 6-4 3-0 | f
=t [EFH (D) _ _ _ _ _
BHNY Ahax 6-0 3-6 4-6 1-2 3
MR B 1D T ey | 46 | 64 -1 | 2| -
J4X= <ak
E5 7D\y7| 1 2 3 4 BR[| IEhL] 5% [Bk=
HE |X () _ _ _ _ _
P 6-1 7-5 2-6 2-1 2
AT _|@BF  [OL)| 57 0-6 0-3 A _
F/o4 TYET
Th4 HR3AY
=H [z [V _ _ _ _ _
AhE /I\}L:L$ 6-2 6-0 6-2 3-0 1




201 2R RMETARE RTIVBFUUITLATERER

= =6 D E\wl( ) 1 2 3 4 B [IEfL] B-%
= 3 B _ _ _ _
e F 0-6 1-6 0-6 0-3 4
EF [mE [OL)] ., o6 | 36 | 12 | 3| -
ho/ o7
=28 X [(Y) B B _ _ _
BHNS S 6-1 6-2 6-4 3-0 1
BK XE 1 | o0 | o5 | s 1 | 2| -
=X ==
=7 Javy 1 2 3 4 B [IEfL] B-%
5H - [OL) wo | wo | 62 | 10 | 1| -
vy o : .
£H [ [J) _ _ _ _ _
ES hooary
INEFE [BEBA (&) _ _ _ _ _
*/5 Awven
WE-H_
Ak |8 [(2) 2-6 W.0 W.0 0-1 2 -
HARY Hho
= ER) jlz‘lzl\y’Jl( ) 1 2 3 4 B [IEfL] B-%
% [JtEA L _ _ _ _ _
e 4-6 6-3 | 6-756) | 1-2 2 | 16-16
5 |EE | B _ _ _ _
= HiE 6-4 6-2 6-2 3-0 1
= 1E [(J)
= _ _ _ _ _
=5 3-6 2-6 6-3 1-2 3 | 11-15
==pa
WWHE [S58E [(8) | 756 | 2-6 3-6 1-2 | 4 | 12-18
4 EPy e




201 2R ERMFETARE VZT7BFVUTLATERR

£170v7 i 2 3 4 B |IBh] 5% [Bk=
HE & | () _ _ _ _ _
—A= AR L
=L [BA [&F) _ _ _ _
T W.0 2-6 6-2 1-1 2
At (3588 [(OL) _ _ _ ~
FhLS  |FITE W.0 6-2 6-0 2-0 1
ﬁfﬁ RE () W.0 2-6 0-6 0-2 3 -
A=/ RED
- ’%’2;;\‘/’7' - 1 2 3 4 B Bl B-% [Bx=
N 7K O (2) _ _ _
R F W.0 W.0 6-3 1-0 1
I EGE D _ _ _ _ _
FTHhLS =y
B 5§ [(TL) _ _ ~ _ ~
Fhy vy
AKX |[B— (@) _ _ _
e 3-6 W.0 W.0 0-1 2
E3 ﬁ?ﬂ‘zl:l\ybl - 1 2 3 4 B Bl B-% [Bx=
[l FH = () B _ _ _ ~
e R 1-6 6-0 6-2 2-1 2
INRTF rESY
INTINESIRI@)) _ _ _ _ _
e e 0-6 0-6 6-3 1-2 3
oI/ T7¥5
F£4708v7 i 2 3 4 B |IBh| B-% [Bk=
i g E: (%) 6-1 2-6 0-6 -2 | 3| -
RE |ER  |—f8 _ _ _ _ _
147 Fho 1-6 0-6 3-6 0-3 4
=2 |7 () ~ ~ _ _ B
AN |14 6-2 6-0 5-7 2-1 2
B0 JE— (3 | 6o | 63 | 7-5 30 | 1| -
X5 F SavAF




2012FFRTRMETAKRE —BEBEFIITILAFEER

ﬁ:,f‘ =T - 2 3 B R BEE

:/y;w FARYT =

AT [HE [ 36 | 64 =1 ]2

x/08  |RUx

&5 (B (D)

nyA R

Fx B [ | o3 6-0 2-0 | 1

ErFH FH9 L

I [Ex (D)

HILS RHI=

T IES i T 0-6 0-2 | 3

YIIF EF¥

ﬁfzz“"’]l - 1 2 3 B R BEE

—= u 6-1 9]

KABR[EE [(N) W. 1-0 1

FAHhD5 |vH=

7 PN ®))

HAry |54

) 1-6 W.0 0-1 2

YIOF ame

A |FBE (T

TUER FTE B _ B

TNIES [(T)

Y<h7 eoy

£ (=0 B - 2 3 R R —
1

IFE k4L B _ _

B [EBX [(N)

FTHLS enos

HEH [BA [(H)

175 ]

=z |56 & | V° W.0 1-0 | f

7% 2Yx

TH B [O)

YFH a4h B _ B

bR [BE=Z [(D)

FhE UELy>

HE [B- [~

jrj;:"g I%@Z/ [—i2 W.0 3-6 W.0 0-1 2

FARY Eoax




201 2FFRTTRMETAKRE —BREFFTILRATFERER

F4 IOV 1 2 3 4 BB |IBh] 5% [Bk=
WWHE [ [(H)
ks EQo7 ¥
BN EE (B 1-6 0-6 4-6 0-3 4
YIHF YT
=& B [(T)
BhiNEr |y
= _|&E 1M | 00 ] 08 T2 s
Laha7 FR/N\IL
A% = [(S)
* LD I
= TE% (S 6-0 6-0 3-6 2-1 2
YIS THIY
S [(D)
TAF BhL
= 6-4 6-0 6-3 3-0 1 -
£ [Fik (D)
IR¥Y ETER
F5 IOV 1 2 3 4 B |IBhL]| Bk |[RkE
E |z (D)
a4 gk
el ) 4-6 2-6 W.0 0-2 3
IYFH Yk L
EE |ZE |—#8
hi< T R
== TmE - 6-4 6-1 W.0 2-0 1
Ho€y HXED
T8 ER |[(B)
SDAY 3Lt
=% TBE (&) 6-2 1-6 W.0 1-1 2
v JIF+
INE = [(N)
a5< SRaF _ _ _ _ _
=F (K& 1UN)
Sy FU
__F6 JOvY 1 2 3 4| BB (B B% [BEE
=4 5 (™)
Aht EQy
== G 6-3 W.0 6-1 2-0 1
XTI YR
s [T BR[| (f)
Thvx  |vovay
=7 % 63 3-6 W.0 6-0 1-1 2
124 <3k
= [ X&#E (D
BHhNy AR _ _ _ _ _
N [EX[(T)
a=y 74
Sl [E® [(S)
EACC Ukt 1-6 0-6 W.0 0-2 3 -

KiE | [(S)

FHIND HASr




201 2FFRTTRMETAKRE —REBFFITILRATFEHRER

217095 1 2 3 2 BB 6] 5% [B5E
Ng |E 1(72)
7/ TXS
IO 8% () 6-1 6-2 | 756 | 3-0 | 1 -
IJF e
A [fx [(9)
YIF HhAXT=2
K TE=T09) 1-6 1-6 0-6 0-3 4
anvyy amoe
A& |[®E [(7)
HhIEL Rirs
BE 2= [(7) 2-6 6-1 6-7(5) 1-2 3
eo< rEIX
BEX =X |
HAF UELy2
=0 EE =& 6-7(5) 6-0 7(5)-6 2-1 2
ESS EDZ3
%8 J0v5 1 2 3 2 BB |Eh] 5% [B5E
INA[FIEE (T
EAMCA el 6-0 6-0 6-2 3-0 | 1 -
XE |R (T)
FAT T7X5
=R [FE [(S)
TARE AXEeRQ
= =& (S 0-6 3-6 4-6 0-3 4
N/ hIrs
A& |[HE [(F)
* LD ven
N=EES ) 0-6 6-3 2-6 1-2 3 -
ARy HHhT
&I 1885 ()
KA BhL
=5 56 ) 2-6 6-4 6-2 2-1 2
A Do
%9 J0v5 1 2 3 2 BB 6] 5% A5
i (RE& (M)
Lot rEY _ _ _ _ _
Bl |BE# [(T)
5 FTAF
2 it [(F)
RF HhRy
S ARG W.0 6-4 3-6 1-1 3 | 9-10 | -1
HhB3AH [ =
=R [#— (7))
TARE FoATF
AT BB | —B W.O 4-6 6-4 1-1 2 |10-10| O
197 roTHE
LRI (th)
b= A
BEE E— (&) W.0 6-3 4-6 1-1 1 10-9 | +1
Hho= SUAF




201 2FEFIRTRMETARE RTIVBFIFTILATERER

£1 097 1 2 3 2 B L] A% [B5=
A [57 |88
EYs =Ly
R e N 20 1
HhHY NS amyJrny
Tt 7B (D)
155 FoTE
Bk Bz &) | OO -6 02 |3
<IVER [ e =
=T EEIES)
AHh7 HRXH
OB [=;| & | 2% | &7 =1 | 2
vegE  |huTE

£20v7 1 2 3 2 B L] A% [B5=
BA [BE (D)
NER AH3AS
BE %E 0O 0-6 | 16 0-2 | 3
294 IwEO
EE (EA [
TU= <k
I 1 . 06 =2
JEFAR A4
XHE B [(&)
FA4 <HIL
= — (3@ 6-1 6-0 2-0 1
Dy HRD

£3J0v7 1 2 3 2 B |EL] A% [B5=
e [Em [(OD)
a’w eavs
G Hif |(7) 3-6 0-6 2-6 0-3 4
TR EhA
i S IE3)
Hhim EpVi
=% Em; & | O U L
IR Fvan
= 7= |[(JL)
S i 6-0 7-5 6-4 30 | 1 -
T [B1— [(JL)
FHT FIAF
AT
A¥4 A
ER 5 |—F:]Q 6-2 0-6 4-6 1-2 3
RE4HFT eQy




201 2FFFiRMRMET-AKRE RTIVBFFTILRAFE KRR

F4 095 1 2 3 7 | BB R A& [ARE
PE  [FEE (X
N=ay AYED
& F= | €0) 6-1 W.0 6-0 2-0 1 -
*oF ayny
N 2 [(N)
FTAH0 /)L
2E @ - | 0 W.0 6-1 -1 | 2 _
IR A3F
> i I ®))
AIITF Ep enl 3 3 _ _ _
Kk | [(D)
FTHE2T YRV
£F & | (F)
2k S EQa¥
B 2= (& | ° 1-6 W.0 0-2 | 3 _
2P YAY
E5 JOvY 1 2 3 I BB ER] B% [RE=
Ik Bk [(TL)
anvy Eb%
E)OX AFary
= 1E [(J)
EDZ ) AE
ThHh HRXIY)
KEE B [(D)
*H5T F4 L
LEH e =& 2-6 1-6 1-6 0-3 4 -
34 EQ4%A
= [Zda (%)
BRIy Ahax
A2/ ArEa
__H6 JOvy 1 2 3 4 BB |EhL| B-% [Bk=
FiE [sh— [(D)
1k am(F
EYTIE S G L N L L R
Ak AhAt
£¥ [Ew [T
kS| eq/7
g = @ | O 6-1 =6 27t 2 -
Hho/ I
EEE R TEIES)
srrn  |venx
ER mE (& | 0 | ° I R S
FThHYX RORT
EE |[BE  [(9)
*hE (=i
BK O XE [(72) 6-1 6-1 6-1 30 1 -
PEVS ] |




201 2FEFIRTTRMETAKRE RTIVBFFTILATERER

=&

F71 JOv5 1 2 3 4 BB |Eh| B-% [Bk=
hE  |J&A | (F)
FHhP< Fani
S E EIC3) 0-6 5-7 W.0 0-2 3
ZXx ayy
ez R b1 [(3)
AXF Eoek
KA E &) 6-0 6-0 W.0 2-0 1
IX4= A
Zik |85 [(ZL)
Hko SV
*F @ o] 0 | 0 WO 1= 2
¥4 FVET
2R =z )
EDRY L32H B _ _ _ _
INE B [(J)
a4 X= <ak
____®8JOvy 1 2 3 4 BB 6] &% [BEe
=%  |FIBA (ZL)
ho/ rT7Xx
) VTE
LI =3 ()
s ILT7x
NHE B & | °° 0-6 =6 | 03 | 4
*/5 Aven
It EE &= ()
FHLS FUAF
gok_mx [ | 0| O 6| 128
TEFH HAA
a] £ =L (79)
7R gy
w5 B2 =@ 6-4 6-1 6-1 3-0 1
Y/ A4ED
%9 JAvy 1 2 3 4 Bk E] Bk [B5=
NS (ZL)
AA% asA
T = 509 W.0 6-1 6-1 2-0 1
IR JRIL
BRAR B (J)
PO A [P H _ _ _ _ -
He = Ep (J)
2Fh any
FE (FEE (%B)
HARINT Y XE!
= | mm_|Gn | ¢ | WO 57 | 02 | 3
FIN vt
= #h &5k ()
Sy F AAhEN
S 2 1) 1-6 W.0 7-5 1-1 2
JIIF Y1




201 2FEFRTRMETZAKRE VZT7BFFTILATERR

%1095 1 2 3 7 | BR ER] A& [B5=
INEFE [E— (&)
*T/5 IOAF
a iR | ( E%‘%) 6-3 6-2 7-5 3-0 1 =
B T¥S
Bk (EE  ((F)
Ak ¥4
=10 EX | €3 3-6 6-0 6-4 2-1 2 =
N Ea 4 NLEY
i Fx  |GR)
= ETA
BA @ Jem | 20 | O° 36 ) 03 )4 -
2 VER YhL
FE B [ (F)
EYY A4 L
BE B & | > | 4% | &3 =2 |3
7294 AhT
%2 J0v5 1 2 3 4 B || B-% |[BE=
FHE  |E | (B)
=M= AR Ls _ _ a B B
b [ITB [(A)
FHhLS aFx7+
SN TIES)
eX/ HXEeO
T LS /L
—= [EFEH  [GR
—J=¥% 7%/
gHE |Bx__agmn | VO | 1® 26 | 02 | 3 [ -
THIS JIF
Wik [BE |[(F)
E&bwil YL
R % & | WO | 6 6-2 2-0 | 1
124 7x5
__Hm3 IO 1 2 3 7 | BR ER] A& [B5=
=% |2 [(72)
BHhNY A Y7
NI e I&)) 6-3 4-6 W.0 1-1 2 —
FTHD ETH
AT €S
A¥Y< 2T
e TBX | &) 3-6 1-6 W.0O 0-2 3 -
T4 BRI
FH |[E— [(B)
75=v  |vATF
L R | ) 6-4 6-1 W.0O 2-0 1 -
Nwj=iy] BE T X
il [B— [(JL)
FAHD )argAF _ _ _ B _
gl B [(TL)
2oHhD 3oany




201 2R EMFETARE —MREFIVVTIVATERR

ER 7‘l:l\y’7| 1 2 3 4 B-BR |IEfhL] B-% [B%E
MzA [EF (V) _ _ 3 3 3
S47/9F  |tAa 6-3 6-3 2-0 1
A |=F [(UX) _ _ _ _ _
- — 3-6 6-0 1-1 2
TMENES N _ _ _ _ _
YIIF Elp= 3-6 0-6 0-2 3
__®278v7 1 2 3 7| BB IR 5% [A%E
Bis_ [IEF [N 63 o _ >0 | 1 i}
BRIy
AL - ) _ _ _ _ _
= =5 3-6 6-1 1-1 2
Af  |[WE  [—# _ _ _ _ _
vy s = 1-6 1-6 0-2 3
3 ;D“Jﬁl 1 2 3 4 BB |IBGLI| B-% |B%x=E
]| + (7)
oy 6-1 1-6 W.0 1-1 2 -
Eif 53; (%) 1-6 0-6 W.0 0-2 3 -
BHE L (D) _ - ) 3
7#7? /7T 6-1 6-0 W.0 2-0 1
s |EEF (D) _ _ _ _ _
<7 S|
__®470v9 1 2 3 1| BB |IEh] 5% [BRE
EH_HBR [(F) 76| 60 | wo | 20 | 1| -
KI [F& [
T v =— 6-7(2) 6-0 W.0 1-1 2 -
=M [#Efk () _ _ _ _
Py R 0-6 0-6 W.0 0-2 3
BER (#BE (7)) _ _ _ _ _
IX/0F eQs
$570v7Y 1 2 3 4 B |EM] 5% [ax=
-+ Ex >
Il 5E () 6-1 6-3 6-1 30 | 1 =
IFH P4
g R I L -6 | 36 | 03 | 4| -
aR5G AX=2
BE &k [ _ _ ) ) 3
7#/:': (| 3-6 6-1 3-6 1-2 3
A |#BF [ =6 6-3 6-3 o1 ) _
ZXx ayo




201 2FEFTRTTRMETARE —BEFFITILRATERR

F1 095 1 2 3 4 B B 5% [a%=
A £ [UX)
F¥ ah
KR | Eie | —h 1-6 1-6 6-3 12 3 -
AANIS |Yrh
X Faﬁ% [(9)
YFERATD _ _ ~ ~ _
E (2279 | O 16| 60 | 30 )
<5 S g
ngE  |[EHEF|(T)
bl =T
g gErl-m | ° | 7@ 61 | 21 | 2| -
ITES I3g
Z85_EFF @
Thyv = L)
&Kk |BAEF|3) 3-6 0-6 1-6 0-3 4
EYFH A3

#2097 1 7 3 7| B ER] A% [B5=
=2k AR _[(D)
A7HH ey
NE E8 [(J) 6-1 6-0 W.0 2-0 1 _
HIHI 7z
AF_|BEFEF)
E % 130
B EANIES) 1-6 6-0 W.0 1= 2 -
VAV VAN = |
=% A& _[({H)
BHhINYL |24
B mE [m | °° | P wo | 02 | 3 f -
Hhi< Qs
=k |[EF [@)
=¥ FA4a _ B 3 _ _
HE [FF (@)
RIND E Ly

EXIPIEDE 1 2 3 | B R &% [8%E
BE [HEY (D)
HAZY 3Ry
A% 155 () 26 1 36 | WO | 02 13 -
ho/ ah
=l [FF (T
FN=p;ly) HFa
AF |BE [ | °° 60 | WO | 20 | 1] -
*K FES
HE (hH51(7)
=4q/ hA I
nE =¥ [ | °° | *° wo |-t 2 -
vy HF3
BE [EK )
XY (| _ : 3 _ _
e BB |[—h
a5h 733




2012FFFRMTRMET_AKRE —REFFTILAFTEHER

4097 1 2 3 4 B |EfL] 5% [Bx=
A [BlF [(D)
EYhH% V=
E # % | (7“) 4_6 1 _6 2_6 0_3 4 -
A4 v/
e A = =)
Hho/ <ama
@ By —@m | o 2-6 | 73)-6 | 2-1 | 2
EA (] ]
T8 [EE (&)
YFH 4 _ 6-1 6-2 61 3-0 : B
0WE  |BEF  [(&)
IVALH rFEO
=% = [N
THAE AVE| _ B 3 B _
E BT TN 6-2 6-7(3) 1-6 1-2 3
VA +va
%5 J0v7 1 2 3 T | BB L] 5% BEE
Tk & [(T)
TURY TE5
e [&¥ (1D 46 | 36 | 16 | 03 | 4| -
2FA AR
FiE  |[BFAF D)
aicAR 6-4 6-3 3-6 21 | 2 -
FH (X [
L rES
PR [#BEK]F)
el 273
g [mEmcn | O | 7° MR L B
/=¥ <IT
AR ([EFF(F)
Y Wil IF0 _ _ B B B
AE EE 8 6-1 6-3 6-4 3-0 1
IFE Y




201 2FFTRTRMEBETAKRE RTIVEFFTILATERKR

B1J090 1 2 3 4 BB [IEfL] B-% [SXE
1S Rt [(3)
Ywi4a a¥ _ _ _ _ _
Gk ia F [ (B
— LT AHa
KE  |FIF [(N)
*7*/ HX3 _ _ _ _ _
£F |HF [(D)
A4 <42
Hik BHF [(3)
HARY 743 _ _ - - -
S |BF [(3)
+H/ 4

E2 IO 1 2 3 4 Bl |IBhi| B-% [B%E
I |EF ()
hr<IL F=0
* _ [Z07 [OD) 6-1 06 | 62 | 271 | 2| -
T LD /3
Gk 2% [ (B
=VL5  |wyz
=5 =z o ] | ° AU I L e
Ry Cara
Es |FEFF |8
*5h HFa
*ﬁ E §¥ | (7‘) 6_0 7_5 6_2 3_0 1 -
304
ok |EF [(3)
SYFH X3 _ _ _ — -
 SE = I 2-6 0-6 2-6 0-3 4
Thzy 4

T3 o097 1 2 3 4 Bl |IBhi| B-% [B%E
AEH [EBET [Y)
JRA *=IT
5 [EE V) 0-6 2-6 2-6 0-3 4 -
=1y A1
INEy | HF [(T9)
s 22 6-0 36 | 7656 | 2-1 2 -
SH |EF [(T9)
434 arya
Rl [#BF [
FThHD V=]
¥~ H rE [ (F) 6-2 6-3 6-3 30 1 -
A¥H =a%
KE ES (3)
X5z i _ _ — - =
axEE = 6-2 6-7(5) 3-6 1-2 3
AXE T




2012FFRTRMETARE RTIIVELFFITILAFTEHZER

F4J0v7 i 2 3 4 BB |IBhi] B-% [BE
2R |[X¥& (D)
Sk s JiT
Ay as
FE Bx [OD)
Ay 743
XA oL [O) 6-7(3) 0-6 W.0 0-2 3 -
i e <ak
=R/ ESIE))
ATF HFa
X F EH3
SR |BAF (&)
EPS] F¥a _ _ _ _ _
Hil ha ()
IS <493




